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Absolute Value of a Complex Number

The absolute value of the complex number z=a+bi is given by:

|a+bi|=\/a2+b2
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Example: Finding the Absolute Value of a Complex Number anss
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Plot z=-2+5i and find its absolute value. (,'% 2
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HPC Trig Form of a Complex Number 6.5

Trig Form of a Complex Number

The trig form of a complex number z=a+bi is given by:
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where a=rcosf, b=rsin0, r=+a’>+b*> and
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tanf =— '
a

' The number 7 is the modulus of z, and € is and argument of z
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Example: Write the complex number z=-2- 21«/5 in trigonometric form.
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Product and Quotient of Two Complex Numbers

Let z, =r(cos6, +ising) and z, =1, (cos @, +isind,) be complex numbers

2,2, =1r, | cos (6, +6,) +isin (6,+6,)]

A =r—‘|:cos(c91 ~6,)+isin(6, —02)]
)
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z, = 24(cos300° +i5in300°)

Example: Find the quotient 2L of the complex numbers: \
z, = 8(cos 75° +isin 750)
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DeMoivre’s Theorem

If z=r(cos@+isin@) is a complex number and nis a positive integer, then

z" = [r (cos@+isin 0)]”

=" (cosnf +isin no)
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Example: Use DeMoivre’s Theorem to find (—1+i\/§
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HPC Trig Form of a Complex Number 6.5

Plot the complex number and find its absolute value.
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Trig Form of a Complex Number

6..5
Represent the complex number graphically, then find the trig form of the complex nnn:gber.
+ - . s BV
®) 5) 5-5i & LL _ ) @8) — Qi
45 b5 e 0 oot »
G)r’ . \" oS % ('577’ _(+ ; —
ORR 0% r (-8)"
= 2s+o¢ 7 (22 SN2 =%
.
@9@ 7‘0419’:’?"/ @ S = don &~ (’pxcud
il 5 "’f
i SO _
T 1) (I 2
}:"55(&@%*L&»%)f [2-_ ?(ac‘a&i*u&%i)r
4 —= ) (-14) ‘s,
7) 3 +i i T
@ 3 L ({20 &Y 9) —T+4i A
4=z b= R e
j A== b=y ‘
1 . ¥ =\2 g B e
(O r= V(@)F = |
—— Qv = {7+ -
y B4 A i R
T f4qel, UL -.5\4
. LB y
T >
o= 0 = 150:25 or 7222
N 1 ) ) S 64' L ISO‘)'
2= Q(C/CJIZJ»L\S/AEB & ‘ 2:\?{:&(@0’3]6‘0‘JIF .J/"‘ ’y
s ‘bzz L = Q.CZZ
— o \rgg ( [ ep) ) \4' g
\ —— . I
@ 9) —2(1+i\/§) } 5 10) 3 ' :
- o N __;P = =0
2 - a3 \\%_l a_ 3 b; | /3 0)
= ]  @rs V3700 et
Se: (o (20 79 -1 R i
- ' 2 '.
-203 =0 .
0203 e TN
@ Q/é J(D/'r\ '7—' 2 = . ( ('/L%J OD“}’ [ 5(/*‘0 ) l
S i1 |
4T b6°* 3 - o

(e B Trisen )



HPC

Trig Form of a Complex Number 6..5
Represent the complex number graphically, then find the standard form of the number.
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Perform the indicated operation and leave the result in trig form.
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